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1. The complement of a set is a set.

2. Let A and B be sets. Then A⇥B = B ⇥A.

3. The complement of the set {1, 2, 3} is the set Z \ {1, 2, 3}.

Section 2.2 Operations on Sets (Part 1)

Notation

P 1. If the sets A and B do not have any common elements, how many elements does A [ B
contain?

P 2. Let A = {a, b, c} and B = {A, b, 3}. Find A [B and A \B.

P 3. What is the complement of the set {1, 3, 9, 27} with respect to the set

{1, 2, 3, 4, 8, 9, 16, 27, 32, 81}?

P 4. What is the complement of the set of rational number with respect to the set of real
numbers?

Venn Diagram

P 5. Make a Venn diagram for the sets A = {1, 2, 3}, B = {1, 4, 5}, and C = {2, 5, 7}.

P 6. Let A = {1, 2} and B = {x, y, z} . Find B ⇥A and B2.

P 7. Prove that for any sets A and B, (A \B)c = Ac [Bc.
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Def the union of two sets A and B

denoted by AUB is the set containing all

elements from A and B The intersection of two

sets A and B denoted by ANB is the set

containing all elements in both A and B
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D The complement of a set A with respect to the

superset denoted by A is the set containing all

element in U which are not in A
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Venn diagram

AUB

EI consider the following sets
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That For any sets A and B
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case Let AUB Hence AUB Thus

A and B Therefore EAC and EBC

which implies A'NBC This shows

AUBS Ach B

case 2 Leave it to you
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